SHISEFE #t=BiEAN REtSEiREs FES

BERB AEFETFE | HIFEFE 1B
(SBINA) 1,050,000 1,050,000 0
(SIEUNA) 500,000 500,000 0
(IR EmBEULA) 20,171,000| 19,090,000| 1,081,000
IR |(ZESUA) 34,331,000| 35,236,000| A 905,000
= | A [(BEBRRA) 150,000{ 100,000 50,000
S (ZEGFI SRS EUNA) 5,000 5,000 0
& (ZDABDUIA) 1,000 1,000 0
- EREHINAST(1) 56,208,000| 55,982,000 226,000
r (AFEZH) 34,092,000| 43,895,000| A 9,803,000
2 (EE3=50) 3,727,000| 3,825,000/ A 98,000
IR (== 14,839,000| 14,972,000| A 133,000
< i ((EHE=S0) 600,000/ 600,000 0
(HEESRHSTEE) 810,000/ 940,000 A 130,000
(BhR &S ) 2,170,000 2,100,000 70,000
SEFHZHET(2) 56,238,000| 66,332,000(A 10,094,000
BEEHESIZELEB)=(1)-(2) A 30,000/ A 10,350,000( 10,320,000
(C HE s EEmFEUIX AT (4) 0 0 0
ij % [((BEBEIvEXZE) 0 0 0
| o HEER RS ST HET(5) 0 0 0
X F | heEkEaE “ﬁﬂ2§#§H(6)=(4)—(5) 0 0 0
z (FETT EFEEEERUNA) 0| 9,959,000( 2 9,959,000
) f (H—E X5 RIRASULA) 6,849,000 7,216,000| A 367,000
z 1t ZOMDEEIRAZT(7) 6,849,000| 17,175,000| A 10,326,000
IR f‘; (H—EXRDHRAS ) 6,849,000 7,216,000| A 367,000
< fEJJ i (FET &) 2,050,000 2,012,000 38,000
( ZORBOSEENZ HEH(8) 8,899,000| 9,228,000 A 329,000
£ | 2othoEENE LU ELE(9)=(7)—(8) | A 2,050,000| 7,947,000| A 9,997,000
FluEsZH(10) 12,883,000| 12,568,000| 315,000
SIS EIR SR ASET A 14,963,000| A 14,971,000 8,000

(11)=(3)+(6)+(9)-(10) T - '
HIEIR SN E SRS (12) 14,963,000| 14,971,000 A 8,000
HEARZINERKE(11)+(12) 0 0 0




